Chapter 20
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16. 
Diagram:  Check your diagram. It should contain two paths leading into Subassembly I.  The first path contains A, B, and C. The second path contains D and E. Then I leads into J. There are also buffers between H and I. And C and I. Work station B is the bottleneck.  As such it is the drum for this operation. As suggested by Goldratt, QC inspection and a time buffer are located just prior to the drum or operation B to ensure the bottleneck is working. Quality assurance is to be stressed downstream from the drum so that throughput is not lost. Buffers are also provided preceding subassembly I and after Station H so that the flow of product is not slowed after the buffer. An operational QC inspection is also provided in this case prior to the CCR. This will ensure that only good material enters the CCR thus the bottleneck only works on good products.
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17. a.
Gross = Selling Price   -Raw Material Cost

                           Gross Profit                             Selling Price                        Material Cost


A

24



30



6


B

26



35



9


C

32



40



8


Product C will be produced as it has the highest gross margin of $35.

b.
Maximizing sales commission, they would sell the highest-priced product C (unless they knew the market and capacity limitations). If we assume the market will take all that we can make, then we would work 7 days per week and 24 hours per day. Y is the constraint in producing C as it takes the longest processing time. C has the highest revenue per hour of $1,200.

   c.
To maximize profit, we need to compare profits per hour for each product.


 
   Constraint  Production Time 
# of units              
Gross

   
 Resource    Resource        
output/hr.   $  RM 
$ profit/hr.


A     Y            
5               12       30    

6     
288

B     Y            
4               15       35    

9     
390

C     Y            
2               30       40    

8     
960

Because the constraining resource is the same for all three products, the problem is solved and the answer is to produce C, and as many as possible.        

   d.
For the week, gross profit is:




5,040 x ($40-8) = $161,280.



Solved using profit per hour:



$960 x 24 hours/day x 7 days/week  = $161,280.

